$$T[\alpha \mathcal{X}_{t} + \beta \mathcal{X}_{t}] = \alpha T[\mathcal{X}_{t}] + \beta T[\mathcal{X}_{2}]$$
 line invariance $y(t) = T[\mathcal{X}_{t}(t)] \iff y(t-\tau) = T[\mathcal{X}_{t}(t-\tau)]$ time invariance impulse represent $h(t) = T[\mathcal{F}_{t}(t)]$ output of input delta function $l(t-\tau) = T[\mathcal{F}_{t}(t-\tau)]$

impulse response of integrator is unit step function

$$| | \int \left[\int (t-t_0) \right] = K(t) \int (t-t_0)$$

$$= K(t-t_0) \int (t-t_0) \rightarrow \text{ because } \int (t-t_0) = \text{ oif } t < t_0 \text{ and } K \text{ is constant}$$

$$= L(t-t_0)$$

$$t$$

$$\frac{1}{1}\left[\int_{-\infty}^{\infty} \left(t-t_{0}\right)\right] = \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} \left(\tau-t_{0}\right) dt = \begin{cases} 0 & \text{if } t < t_{0} \\ 1 & \text{if } t > t_{0} \end{cases} = u(t) - l(t)$$

This is to be expected because the systems are time - invariant

11.2
$$\lambda(t) = k(t)J(t) = k(0)J(t)$$
 because $J(t) = 0$ if $t \neq 0$

 $\left[\left\{ \left\{ \left\{ \left\{ \left\{ t-t_{o}\right\} \right\} \right\} =\left\{ \left\{ \left\{ t-t_{o}\right\} \right\} \left(t-t_{o}\right\} \right\} \left(t-t_{o}\right) \right\} \left(t-t_{o}\right) \right\} \\
\left\{ \left\{ \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \right\} \\
\left\{ \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \right\} \\
\left\{ \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \right\} \\
\left\{ \left\{ t-t_{o}\right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \right\} \\
\left\{ \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \left\{ \left\{ t-t_{o}\right\} \right\} \left\{ \left\{ t-t_{o}\right\} \left\{ \left\{ t-t_{o}\right\} \left\{ t-t_{o}\right\} \left\{ \left\{ t-t_{o}\right\} \left\{ \left\{ t-t_{o}\right\} \left\{ t-t$

$$/t_{0}(t) = k(t_{0}) \delta(t-t_{0}) + k(0) \delta(t-t_{0}) = k(t-t_{0})$$

For L TI system y (+)=h(t) x x (+)

$$\frac{1}{11.3} \quad y(t) = \frac{1}{2a} \int_{t+a}^{t+a} \chi(\tau) d\tau$$

$$\mathcal{A}(t) = \frac{1}{2a} \int_{-a}^{t} \mathcal{J}(\tau) d\tau$$

$$= \frac{1}{2a} \left\{ \begin{array}{l} 1 & \text{if } t > 0 \\ 0 & \text{if } t < 0 \\ \end{array} \right. \left| t \right| \le a \\ = \frac{1}{2a} \left[\begin{array}{l} t \\ 2a \end{array} \right] = \frac{1}{2a} \left[\begin{array}{l} t \\ 2a \end{array} \right]$$

$$\frac{1}{2a} u(t)$$

$$\frac{1}{2a} (t)$$

This Ayren's causal. Alme, it can be realized in practice